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01 At 2teltl 5,000 5,000 0
Odutktg &4 S 5,000

207 A 2OH | 20,000 20,000 0

03 A& & 2H| 20,000 20,000 0
OZ=s8d A3 U2 20,000

301 LB A= 7,000 7,000 0

08 2IBl=& (¢ H| 7,000 7,000 0
(@)1=~ 5,000
OHMIH bl 2,000

303 LA 15,000 13,000 2,000

01 ZA3 15,000 13,000 2,000
ONDRM BES= Pa3 15,000

310 =2/01 & 40,000 40,000 0

01 =23 A0IH 40,000 40,000 0
O=ZMz=&+ 40,000

AT Ald, BH 2= 319,000 93,500 225,500

401 Al HIZ 20 231,000 0 231,000

01 Al &l 230,000 0 230,000
EHE & H=sXM 230,000

03 AI& 21| 1,000 0 1,000
OEHlE & H=XM 1,000

405 KHaHFE S H| 88,000 93,500 25,500

01 AL =S FSHI 88,000 93,500 A5,500
o=eldl, &x37], %7 s 42,000
OMSMEL 25,000
Oz4d sd=s3EX 21,000

B & 133 Jl=Heg 174,818 174,818 0

101 212 d| 114,818 114,818 0

04 JI12ZtH22HSE+ 114,818 114,818 0
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O4lHEE S HERE 10,408

207 A FOH | 60,000 60,000 0

03 A& & 2 H| 60,000 60,000 0
OsXtl & SEEA 60,000

PR AMA BAIIE HY 224,400 148,760 75,640

101 eI24d| 164,400 108,760 55,640

4 JI12HHZ22NSESs 164,400 108,760 55,640
ogZdae ¥ A 149,100
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4B s HERES 15,300

207 A FOH k| 60,000 40,000 20,000

03 A& 72| 60,000 40,000 20,000
ONEZR ANE sAH & Al 60,000

HA AES =4 2 iD= e 125,400 93,590 31,810

101 2124 H| 59,000 38,590 20,410

4 IIZtHZ22XNSES 59,000 38,590 20,410
Oalsgal & THHHAF2 2 54,000
O4UIEE & HEREZ 5,000

207 A FOH | 66,400 55,000 11,400

03 Al& A 2H| 66,400 55,000 11,400
OE=4d L AgHT? M= 66,400

RS AMA 34,740 34,740 0
= 34,740

101 @1 21| 25,740 25,740 0
= 25,740

04 J12ZtHZ2E2XNSE 25,740 25,740 0
OJ/JIT MAZ I 23,400
= 23,400
O4iEde s HEREES 2,340
= 2,340

206 i =t 9,000 9,000 0
= 9,000

01 =4l 9,000 9,000 0
ORAT MaTHE 9,000
= 9,000

X MRS Aol gE ALY 1,417,000 1,280,000 137,000
3 1,417,000

201 Bt AH| 7,000 8,000 A 1,000
& 7,000

01 At 22/l 7,000 8,000 A 1,000
OHIIg L HMANB ABE 5,000
= 5,000
OEIIg &Y 2,000
= 2,000

202 (4 Hi 30,000 21,000 9,000
& 30,000

01 2| 8,000 10,000 A2,000
Outstd s HJ2F4A 8,000
& 8,000

03 =22 LR0HI 22,000 11,000 11,000
O&tstA ol 2l H == 22,000
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OHA EX010I8 5S4 HHl2Y 140,000
3 70,000
= 70,000
SOMSEE 29 4,000 20,000 A 16,000
= 2,000
= 2,000
202 01 H 3,200 3,200 0
= 1,600
= 1,600
04 =R 301 bl 3,200 3,200 0
OMBIEE felols 3,200
= 1,600
= 1,600
301 LB A 800 7,800 A7,000
= 400
= 400
10 BALALH] 2 A2 800 7,800 A7,000
OMBIE S BT AP 800
=2 400
= 400
Dt A8s JleH 559,460 1,597,950 A1,038,490
3 30,000
= 529,460
N0 232 sradls e 252,000 136,000 116,000
101 1244 146,000 72,000 74,000
R EEVEEES 146,000 72,000 74,000
OM4, 33l ZX22 L ABEA 133,000
042 S BRPE3 13,000
207 o1 R 106,000 64,000 42,000
03 A& & | 106,000 64,000 42,000
SN EEED ] 106,000
SoMeBE 0|8 AEE B4 142,960 298,410 A 155,450
101 1218 59,960 25,410 34,550
04 JIAH2RISE S 59,960 25,410 34,550
ONBEE o figaey 54,500
042 S BRPE3 5,460
207 o1 RNl 83,000 73,000 10,000
03 A& & | 83,000 73,000 10,000
OXHY o ZTHWE 83,000
SAS SOPNR SA JlE W 104,500 107,040 A2,540
101 1218 49,500 52,040 ~2,540
04 JI2H2RISE S 49,500 52,040 A2,540
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207 1o Y| 55,000 55,000 0
03 AlE o1 55,000 55,000 0
OJZAEST HE 55,000
B9 SESA 4B JlelYy 60,000 100,000 40,000
2 30,000
3 30,000
101 @1 21H| 16,600 25,400 18,800
2 8,300
5 8,300
04 JIZHZERSES 16,600 25,400 18,800
OgY o 4224, JIsHI} 15,200
= 7,600
=3 7,600
O4lEE S gy 1,400
= 700
S 700
202 o4l 1,000 4,400 13,400
= 500
[ 500
01 2LHOi I 1,000 4,400 23,400
Ogexx ot 1,000
2 500
[ 500
207 1oy 42,400 70,200 27,800
= 21,200
3 21,200
03 AlE o1 42,400 70,200 27,800
O0/B3t & 24TZ 42,400
= 21,200
S 21,200
Zed solls Y 600,690 590,266 10,424
sy Eeelle Ny 192,400 192,400 0
101 @1 21| 92,400 92,400 0
04 JIZHM2Z RS ES 92,400 92,400 0
OANEZEE ¢ MEM 29242 84,000
Q428 s HERea 8,400
207 1o Y| 100,000 100,000 0
03 AlE o1 100,000 100,000 0
OEYHIZ AET WE 100,000
HolE SE220is MY 178,790 178,790 0




SN
X XH .
S Tt

el

[

Jl=d HFMHE=
sl g

A
=
4 sl Y

2 o Ol
o o e

BSA - MG (B H) - MEBAIY - BAH2 Al OH &EIE Hm=2
SN HH . GA(BH) - NEAY - B2 Sh Ofl & o e
101 2124 d| 74,790 74,790 0
4 D12t 22 RS2+ 74,790 74,790 0
ORZae ¥ AEga2Y 68,000
O4EE S HERYEZ 6,790
207 A IHEH| 104,000 104,000 0
03 A& 2 H| 104,000 104,000 0
Ogel2s MEd2MZ 104,000
NEZE WAMAD= g 229,500 219,076 10,424
101 2124 d| 119,000 103,576 15,424
4012t Z22Xs8 119,000 103,576 15,424
O==2 & 22| L AIE T AL 108, 100
O4EE = HERYEZ 10,900
207 AR L] 110,500 115,500 25,000
03 A& A Y| 110,500 115,500 25,000
OANEHT M= 110,500
=g 3%, 38 43t 797,280 794,180 3,100
= 434,280
= 112,000
& 251,000
SHIEGSEFEAAE 2= 224,000 224,000 0
= 112,000
& 112,000
201 L2 H| 98,000 94,000 4,000
= 49,000
& 49,000
02 E2=2ZH| 98,000 94,000 4,000
OANAE Sgtael & 823 98,000
= 49,000
= 49,000
207 A ROH | 90,000 89,000 1,000
= 45,000
& 45,000
02 & AR EHH| 90,000 89,000 1,000
OZt8g EHO0IX 2= 34,000
= 17,000
& 17,000
O0DDoS SHUSAIAE 2= 56,000
= 28,000
T 28,000
405 RtakFE S| 36,000 41,000 25,000
= 18,000
= 18,000
01 AL S SFSHI 36,000 41,000 25,000
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SEEETINET 36,000
= 18,000
= 18,000
SPIET-DIER-T -3 298,000 268,000 30,000
2 191,000
= 107,000
201 YEr2 Y| 50,000 67,000 £17,000
2 25,000
= 25,000
01 A2 22l 50,000 67,000 A17,000
OEY 7 L HUSE 7Y 10,000
2 5,000
= 5,000
OR+JYH HB2Y = 20,000
2 10,000
= 10,000
OAOIH =20 4¥T20y 29 20,000
2 10,000
= 10,000
202 01t 23,500 36,000 ~12,500
2 11,750
= 11,750
01 2UHOTH| 23,500 36,000 A12,500
OsJted ags =& 14,000
2 7,000
= 7,000
O8Z2Y =4t =3 5,000
2 2,500
= 2,500
OAOIY sgel T2 29 4,500
2 2,250
= 2,250
207 oKL bl 40,000 0 40,000
2 20,000
= 20,000
NEEEET 40,000 0 40,000
09 AIZtEHE Mg 40,000
2 20,000
= 20,000
301 YBrBA 30,500 27,000 3,500
2 15,250
= 15,250
10 BAHAIHI 2 A3 30,500 27,000 3,500
OSTRYSA FAT AHI24 15,000
2 7,500
= 7,500
OAOIHSRIQ B4 &AT AHI2 15,500
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= 7,750
= 7,750

307 2I12+01 A 70,000 30,000 40,000
= 35,000
= 35,000

02 A2tFANEX 70,000 30,000 40,000
ORI 3L SAAH 50,000
= 25,000
== 25,000
O8e| Al2tst Z&ETH XI& 20,000
= 10,000
& 10,000

308 XXM SOoIA 24,000 48,000 24,000
= 24,000

01 AXSHHBABEEZ 24,000 48,000 24,000
Os&ags 25 A& 24,000
= 24,000

403 XHXISHHSA=20| A 60,000 60,000 0
= 60,000

01 AIXIEM A2 E X 60,000 60,000 0
Osldagst & sIHX& 60,000
= 60,000

SN2 ASEA, 24 9,280 96,280 0
= 96,280

101 Q121 H| 15,600 15,600 0
= 15,600

MU IItHZ2Z2XNSE S 15,600 15,600 0
OASEANE 22 U 24 14,500
= 14,500
O4Ui2e S ga3gsE=2 1,100
= 1,100

202 o4 4| 5,800 5,800 0
= 5,800

01 2LHO HI 5,800 5,800 0
OsdtE ASIAF F& 5,800
= 5,800

308 AHX| SIS0l A 74,880 74,880 0
= 74,880

01 AXIEMIAEEZ 74,880 74,880 0
OsdtE ASEXA 24 X 74,880
= 74,880

Neisedle ¥23 N 179,000 175,200 3,800
=2 147,000
= 32,000
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101 21 24H| 36,000 30,000 6,000
= 18,000
= 18,000
04 JIZHNIZ22XRHSE+ 36,000 30,000 6,000
OXZg=sglls 23 33,000
= 16,500
= 16,500
O4li28 s HER 3,000
= 1,500
= 1,500
201 ZEt2FH| 4,000 5,680 21,680
= 2,000
= 2,000
01 AtR2tel 4,000 5,680 21,680
OXsellz 23 4,000
= 2,000
= 2,000
307 2IZtol 24,000 31,200 AT,200
= 12,000
= 12,000
04 QIZEHALE X 24,000 31,200 A7,200
OAOIH sgel 38 24,000
= 12,000
= 12,000
308 XX SHHS0IA 115,000 104,000 11,000
= 115,000
01 IXHHBHEES 115,000 104,000 11,000
OXg=2ll=s &3 X 75,000
= 75,000
Os4tE e-HIXILIA 40,000
= 40,000
HY2AZH(sII= A7 215,400 267,400 A52,000
Jl=2Z4l 215,400 267,400 A52,000
Jl=&d| 215,400 267,400 A52,000
201 L Et2FH| 102,600 133,600 231,000
01 AtR2tel 93,600 111,600 A 18,000
OllsLge=d 93,600
02 2324l 9,000 22,000 A 13,000
Ozs32= ¢ HAl & 9,000
202 44| 93,600 111,600 218,000
01 =2 AbI 93,600 111,600 A 18,000
Odlsgee=d 93,600
203 P =&l 19,200 22,200 23,000
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